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Tensorflow:MNISTIRHI|FHEHSF

from tensorflow.examples.tutorials.mnist import input_data

import tensorflow as tf

tf.placeholder(tf.float32, [None, 1,
tf.placeholder(tf.float32, [None, 1, ="y-input"')

( ):

return tf.Variable(tf.random_normal(

w_h = init_weights([ s 1)
w_h2 = init_weights([16, 1)

w_o = init_weights([16, 1)




Tensorflow:MNISTIRHI|FHEHSF

( 3 3 4 ) :
= tf.nn.relu(tf.matmul(X, ))

h2 = tf.nn.relu(tf.matmul(h, ))
return tf.matmul(h2, )

py_Xx = model(X, w_h, w_h2, w_o)

cost = tf.reduce_mean(tf.nn.softmax_cross_entropy_with_logits( =py_X, =Y))

train_op = tf.train.RMSPropOptimizer( , ) .minimize(cost)

predict_acc = tf.reduce_mean(tf.cast(tf.equal(tf.argmax(py_x, 1), tf.argmax(Y, 1)), tf.float32))

epoch_count

batch_size =




Tensorflow:MNISTIRHI|FHEHSF

with tf.Session() as sess:
sess.run(tf.global_variables_initializer())
step =
for 1 in range(epoch_count):
step +=

batch_x, batch_y = mnist.train.next_batch(batch_size)

sess.run(train_op, ={X: batch_x, Y: batch_y})

if step % ==
loss, acc = sess.run([cost, predict_acc],
={X: batch_x, Y: batch_y})

print("Epoch: {}".format(step), "\tLoss: {:.6f}".format(loss), "\tTraining Accuracy: {:.5f}".format(acc))
print(“Testing Accuracy: {:8.5f}".format(sess.run(predict_acc,

={X: mnist.test.images, Y: mnist.test.labels})))




Accuracy 1 0. accuracy_1
Accuracy
Accuracy
Accuracy
Accuracy
Accuracy
Accuracy
Accuracy
Accuracy
Accuracy

Accuracy

Accuracy
Accuracy
Accuracy

loss
Accuracy
loss/loss
Accuracy
Accuracy

Accuracy

e.
e.
e.
e.
0.
0.
e.
e.
8.
e.
e.

Accuracy

[l
X



I 28 45 1

s BRMZE ML (CNN)
EEEE BRE. b2
* AP M4 (RNN)
o LB BB
- KAEHTZM% (LSTM)
 CNN+RNN
o MR 153 S B A R

A person riding a
motorcycle on a dirt road.

Two dogs play in the grass.

Two hockey players are
fighting over the puck.

! '
‘a
s >
E oA -
R &
-
5




oo
(=2
-—
A
U]
e
1)
=

Thanks for




